
Unité A Chapitre 4 : Utiliser les puissances d’un nombre et la notation scientifique 

Solutions des exercices J’applique (p. 63) 
 
1 
A = 95 

B = 
42

5
 
 
 

 

C = (–6)6 
 
2 
a. 34 = 3 × 3 × 3 × 3 = 81 
b. (–3)4 = (–3) × (–3) × (–3) × (–3) = 81 
c. –34 = –3 × 3 × 3 × 3 = –81 

d. 3–4 = 4

1 1 1
3 3 3 3 3 81

= =
× × ×

 

e. (–3)–4 = 4

1
( 3)−  

 

1 1
( 3) ( 3) ( 3) ( 3) 81

= =
− × − × − × −

 

f. –3–4 = 4

1 1 1
3 3 3 3 3 81

− = − = −
× × ×

 

 
3 
a. 35 = 3 × 3 × 3 × 3 × 3 = 243 
b. (–2)6 

  = (–2) × (–2) × (–2) × (–2) × (–2) × (–2) 
  = 64 

c. 
31

4
 
 
 

 = 1 1 1
4 4 4
× ×  = 1

64
 

d. (0,1)3 = 0,1 × 0,1 × 0,1 = 0,001 
e. (–0,1)3 = (–0,1) × (–0,1) × (–0,1) 
  = –0,001 
f. 107 = 10 × 10 × 10 × 10 × 10 × 10 × 10 
  = 10 000 000 
g. 1901 = 190 
h. (–9)1 = –9 
i. 01 = 0 
j. (–256)0 = 1 

k. 6–1 = 1

1 1
6 6

=  

l. –54 = –5 × 5 × 5 × 5 = –625 
 

4 
a. 104 × 103 = 104 + 3 = 107 

b. 47 × 42 = 47 + 2 = 49 

c. (–5)3 × (–5)–2 = (–5)3 + (–2) = (–5)1 
d. 7 × 73 × 7–3 = 71 + 3 + (–3) = 71 

e. 
4

3

10
10

 = 104 – 3 = 101 

f. 
7

2

4
4

 = 47 – 2 = 45 

g. 
3

2

( 5)
( 5)−
−
−

 = (–5)3 – (–2) = (–5)3 + 2 = (–5)5 

h. 
3

3

7 7
7−

×  = 
1 3

3

7
7

+

−  = 
4

3

7
7−  = 74 – (–3) = 74 + 3 = 77 

i. ( )3410  = 104 × 3 = 1012 

j. ( )274  = 47 × 2 = 414 

k. ( ) 23( 5)
−

−  = (–5)3 × (–2) = (–5)–6 

l. (7 × 73)–3 = (71 + 3)–3 = (74)–3 = 74 × (–3) = 7–12 
 
5 
a. 25 × 55 = (2 × 5)5 = 105 
b. (–3)4 × 24 = (–3 × 2)4 = (–6)4 
c. 10–7 × 2–7 = (10 × 2)–7 = 20–7 
d. (–2)–3 × (–3)–3 = ((–2) × (–3))–3 = 6–3 

e. 
55

5

2 2
5 5

 =  
 

 

f. 
44

4

( 3) 3
2 2
−  = − 

 
 

g. 
77

7

10 10
2 2

−−

−

 =  
 

 = 5–7 

h. 
3 33

3

( 2) 2 2
( 3) 3 3

− −−

−

− −   = =   − −   
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6 
a. 240 ÷ 2 = 240 – 1 = 239 
b. 240 × 2 = 240 + 1 = 241 
c. (22)3 = 22 × 3 = 26 = 64 
d. (23)2 = 23 × 2 = 26 = 64 
 
7 
a. 1 + 32 = 1 + 3 × 3 = 1 + 9 = 10 → Faux. 
b. 5 × 23 = 5 × 2 × 2 × 2 = 40 → Vrai. 

c. 
25 5 5 25

4 4 4
×

= =  → Vrai. 

d. (2 + 3)4 = 54 = 625 
24 + 34 = 16 + 81 = 97 → Faux. 
 

8 
a. 2,094 35 × 103 
b. 5 × 103 
c. 2,34 × 102 
d. 2,17 × 102 
e. 1,092 7 × 102 
 
9 
1. a. 150 000 000 km = 150 000 000 000 m 
  = 1,5 × 1011 m 
b. 5 mm = 0,005 m = 5 × 10–3 m 
c. 0,14 nm = 0,14 × 10–9 m = 1,4 × 10–10 m 
d. 7 µm = 7 × 10–6 m 
e. 6 400 km = 6 400 000 m = 6,4 × 106 m 
 
2. 1–e ; 2–b ; 3–d ; 4–a ; 5–c. 
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